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E Multiple Choice Questions

. What is the remainder when 6910 is divided by 817
A. 25
B. 23
C. 21
D. 19

Answer

. Area of 4 walls of a cuboid is 57m?, if its length is 5.5 m and height is 3 m. What is the breadth
(in m)?
A.45m
B.4m
C.3m
D. 3.5m
Answer
. At 30% discount the selling price of an article is X 1,050/-. What is the selling price (in X) if the
discount is 15%?
A. X1,200/-
B. ¥1,175/-
C. ¥1,100/-
D. X 1,275/-
Answer
. What is the fourth proportional to 336, 288 and 1617?
A. 184
B. 115
C. 138
D. 134
Answer
. The simple and compound interest that can be earned in two years at the same rate is X 4,000/-
and X 4,180/- respectively. What is the rate(% per annum) of interest?
A. 18% per annum
B. 4.5% per annum

C. 9% per annum

D. 1Z% per annum
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c. =
D. [x]
Answer

7. 6 times a fraction is greater than 7 times its reciprocal by 11. What is the fraction?

A [
B. [*]
c. [
p. [¢]

Answer
8. A watch having marked price as X 8,400/- is sold for X 5,040/- after two successive discounts. If
the first discount is 25%, then what is the second discount percentage?
A. 0.15%
B. 20%
C. 0.25%
D. 0.3%

Answer
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